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2023
POLITICAL SCIENCE

( Honours Core )

Paper : POL-HC-4026
( Public Policy and Administration in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

- 1. Answer the following as directed : 1x10=10
oo A e rgaidt e fran

(a) Which State of India first adopted the
Right to Service Act?

S[Aed (FMIT I AANCO CH 4P N2

oz St 2
() Mention one characteristic of public
policy.
IS «o1 (APB) a1 |
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(c)

(d)

(e)

(9)

)
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(2)

In  which yéar was the PESA Act
€nacted?

PESA S @R w70 o129 947 22fiet 2

In which State of India was Lokayukta
first established?

%ﬂ%dﬁﬁmﬁ%ﬁﬁ
Fffes 2

Write one remedial measure for
combating corruption in India.

SRS TS AfSemm a3 @by Bom forey |

Who elects the President of Gaon
Panchayat?

M IR T I Py 93 2
What is single budget?
IFF WS F 2

“llliteracy is g hindrance towards
people’s Participation in adminis-
tration.”

( Write True or False )

aﬂWﬂwuaﬂ TIPS EPIMAR S0 o

(% & wrom forey )

( Continued )

B

(3)

(i) Write the full form of RTE.
RTER 375 Fofed1 forsn |

() Mention one employment scheme
adopted in independent India.

T8 SReIAC T2 I G A vl

T7Ey 390
2. Answer the following in very short : 2x5=10
ere fareaRa oS oy e fa
(a) What is incremental model of public
policy?
@EAfet JfaAe =3 & 2

(b) Write the name of two local governance
institutions of India.

TSR o1 TG P e AN o |

(c) What is food security?
3 e & 2

(d) Write two principles of social welfare
administration.

e Fem ePPE qo1 S o 1
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({ 4

(e) Write two limitations of decentralizatiq
n.
R (o1 el ford |

. Write short notes on the following (any four
Sx4=20

i T 1)

fraTarR eo@e Y R o (R e wifiy)

(a) Problems of public policy evaluation
RIS TR S0

(b) Forms of decentralization

(c) Citizen’s Charter

MRE oo

(d) Principles of budget
A Tz :

fe) MGNREGA

99, @. e, %N\ w. &
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( Continued )

e
B, - L Vg

(5)

1j] Evolution of local self-governance in
ancient India

uﬂaxmmagumagumazq=xanﬁ«gl

4. Answer the following questions : 10x4=40

am‘mnnnzuaa‘ﬂzd”

Discuss the public policy process in
India.
mmqq.qaamawmawsmuaaqﬂmaun:

(@)

Discuss the various stages of policy
formulation in India.

is the vmnmwaoan of India related to

tary vnoonmm\.» Discuss:
B A ot won
speoffs 7 S Eall
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(c)

(d)
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(6)

Or / 7%

Discuss the role of the Estimates
Committee and Public Accounts
Committee in budget process of India.

SR AEn AfFrre Wt Iw IRM u=
sl 2o b g seeman 74 |

Analyze the problems of public service
delivery in India.

SRS IR CR @R PIIRE Resa
0

Or / &1
Explain some public grievance redressal

measures of India.

SRS (FVEW IwEA Sfewn A @
BN il

Analyze the problems of local self-
governance in India. Suggest some
remedial measures to overcome those
problems. 8+2=10

SRS ¥ FASPEE STOIERR Remd 347 |

9% FPIAR FYEA AT @EONH o[/
SISO |

( Continued )

(2

or / &l

2 Discuss its

ce

t is e-governan : blic
MWM. and significance i B 2+8=10
administration- S oF
o P67 -T2
sreerd w1 ¥4

* kX
S
74 3 (sem~4/CBC
A23—8000/8

) POL HC 2



